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Module - 2
Lecture - 18
Solution of System of Linear Equation

Welcome viewers, in this lecture we are going to discuss Solution of System of Linear
Equations. We will use all those concepts, which we have developed during my lectures
on matrices. To start with we will first discuss solution of system of homogeneous linear

equations.

(Refer Slide Time: 00:44)

Solution of system of Linear Equation

Homogeneous System of linear equations:

AX=0
A is a square Matrix of order n

Theorem: The following statements are
equivalent

a. Ais nonsingular
b. AX = ghas only the trivial solution

The homogeneous linear equation can be expressed in a matrix form as AX is equal to 0,
here A is a square matrix of order n and X is a vector of unknowns. So, we n equations in
n unknowns. Now, we call this equation homogeneous, because the right hand side is 0
and all the equation are having a homogeneous terms that is all terms are involving an
unknown variable X in degrees 1. And there is no terms, which is constant and that on

the right hand side we have 0 only, so a is a square matrix of order n.

To solve the system, we first develop a theorem according to which, the following two
statements are equivalent. First statement says that if A is non-singular and second says

that AX is equal to 0 has only the trivial solution by this | mean to say that if A is non-



singular, then AX is equal to 0 has only the trivial solution or if AX is equal to 0 has only

the trivial solution, then A is non-singular.
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Proof: (a ->b) Let A is non-singular
detA#0 (A:0)—(1,:0)
> x=0 is the solution of given system

Alternately rank A= n, Nullity =0
> X=0 is the solution of given system

(b >a) Let X=0 is the solution of the system
(A:0)—{l:0)

del A#0 k

A is non-singular

So, let us first prove this result, to start with we proof the forward side that is A is non-
singular by this statement | mean to say the determinant of A is not O this is by the
definition of a non-singular matrix A. And if determine A is not 0, then the augmented
matrix formed by the column 0 that is A colon 0 will be transform to the matrix I n colon
0 in which, we will have identity matrix on the right hand side. That means, we can
apply a elementary operations on the augmented matrix and this augmented matrix can

be convert to a matrix like this.

And, this simply means that we will have a identity matrix as a coefficient matrix and the
right hand side is 0 and by this | mean to say that if I am having n is equal to 3 and | am
having 3 unknowns x y and z. Then, from this z is equal to 0, y is equal to 0 and X is
equal to 0. That means, 0 0 0 is solution of this matrix, this is | have explained for n is
equal to 3. But, this is true for n values for any n. So, this simply means that x equal to 0

if the solution of given system.

So, I have prove this part this is one way of proving this another way may be that rank A
is equal to n if determinant A is not 0. Then we know rank A is equal to n and according
nullity will be 0. And if nullity is equal to O, then the system AX is equal to 0 has the
trivial solution X is equal to 0. So, we have prove that X is equal to 0 is solution of given

system when A is non-singular, so this is first part.



According to the second part b implies a that is if X is equal to O is a solution of the
system then we will provide that the matrix A is non-singular. To prove this we say that
the augmented matrix A O can transfer to I n 0, because X is equal to 0 is a only solution
of the system and this means determinant A is not 0, and this by definition A is non-
singular. So, we have prove the theorem for a system of homogeneous equations. So, if
the term system is homogeneous will have only the trivial solution provided determinant

A is non zero.
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Non Homogeneous System:

Consider a system of m equation is n
unknown
AX=b
Aismxn
Casel: m=n
No. of equations = no. of unknowns
LetRank (A)=n

Matrix A is nonsingglar

Now, we consider non homogeneous system, so let us consider a system of n m. Let us
consider a system of m equation in n unknowns that is AX is equal to b. Then the matrix
A is of order m by n, where m are the number of equations and n is the number of

unknowns.

Now, we consider the different cases case 1 is when m is equal to n that is the number of
equation is equal to number of unknowns in that case the matrix A is a square matrix. So,
let us consider situation when rank of A is equal to n, so if rank of A is equal to n; that

means, matrix A is non-singular.
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A is invertible A exists
X = A b gives the solution.

Finding solution means finding inverse

Cramer’'s Rule: Nonhomogenous n x n
system Ax=b such that det A # 0, then the
system has a unique solution

=det (A;) _detA, = =del(A,,)

7" detA ' detA' " detA

A, is the matrix obtained from A by
replacing the i column of A by column b

And if the matrix A is non-singular, then the matrix is to be invertible. That means, we
can very easily find out A inverse and A inverse exist then we can premultiply our given
equation AX is equal to b by A inverse simplifies to X is equal to A inverse b. So, this
expression gives us the solutions for the non-homogeneous system AX is equal to b.

Now, this simply means that finding the solution means finding inverse of the given
matrix A. So, if the solution is to be obtained, then we have to first obtained A inverse.
And then A inverse multiplied by b is the solution of the given system. This actually the
basis for a method developed as this method is called Cramer’s rule. And according to
this a non homogeneous n by n system AX is equal to b given that determinant A is not
0, then the system has a unique solution. So, this method is applicable when determinant
Aisnot 0.

The unique solution of the system is given is given by X 1 equal to determination A 1
divided by determinant A X 2 equal to determinant A 2 divided by determinant A. The i
th component of the solution vector Xi is equal to determinant Ai divided by determinant
A. And the last component X n in the solution vectors is determinant A and divided by
determinant A. What are A 1 A 2 A i matrices these are the matrices, which are obtained

from A by replacing the i th column of A by column b.
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Proof : For the given nonsingular matrix A,
the solutionis X=A"b

X=Ad'Ab
det A
Ay - . Ay . . A,

Tb,

So, let me first prove this result, so for the given non-singular matrix A, the solution is X
is equal to A inverse b this we have just now establish. And accordingly the solution
vector X is adjoint of A divided by determinate A b this is the definition | have taken for
the inverse A inverse. So, X is equal to adjoint A divided by determinant A into b.

Now, we can write down this a equation in this expanded form on the left hand side |
have the column vector X 1 Xi Xn is equal to 1 over determinant A. Then | am writing
adjoint A this is my adjoint of A and then the column vectors b 1 bj and bn. So, this is
the matrix adjoint of A, where A’ 1 1 A 1 i etcetera. These are the cofactors of the

corresponding elements in the matrix A and then we take the transpose.

(Refer Slide Time: 09:18)

1
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So, let us simplify this if I write down the transpose, then the columns will become rows
and rows become columns. So, this is what | got the transpose matrix A11 A1iAlnin
the columns. Now, previously they were in rows and A j1 Aji Ajn they are, now in

columns they previously they were in rows.

So, if I perform this multiplication then x i if I consider the i th component here is equal
other one upon determinant A this is constant. So, I am writing it here, then I will see,
what is the i the component from this product. So, you to get the i th components of this
product this is A 1 i multiplied by b 1, then will have A 2 i multiply by b 2.

So, this i th row multiplied by this column that will give me the i th component here. So,
xi is equal to this element, so this element is obtained by multiplying this row by this
column. So, itis A 1ib 1 plus A jibjthis multiplied by the j th elements here, and A n i
multiplied by b n, so Xi is equal to this. To prove the results i have to show that that this

is nothing but determinant Ai.
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det A,=|.
a, a, b

an‘l an? bn

expanding i™ column

A, =Ab ... +A0,+

So, let me first simplify the determinant Ai for this purpose let us consider determinant
Al as this determinant. Now, what is this determinant is the determinant of the matrix A
with i th column is replaced by the column b, which was their on the right hand side of
equation AX is equal to b. So, this is the column which i have replace at the i th position,

so this is determinant Ai.



To simplify this, if I expand this determinant along this column, then I know Ai
determinant Ai is equal to A 1 i multiplied by bi plus A 2 i multiplied by b 2 plus Aii
multiply by bi plus A n i multiplied by bn. So, this i know from the properties of

determinant, so this is nothing, but determinant Ai.
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»det A = 0, The Crammers Rule is not
applicable

»Crammer’s rule is Applicable for n x n
system k

So, once | am convince that this is this expression is determinant Ai, I can easily prove
the result. Now, if determinant A is equal to O, then since the formula, which | have
derived has determinant A in the denominator the Cramer’s rule is not applicable, and
further Cramer’s rule is applicable for n by n system, because only when determinant A
is meaningful. So, Cramer’s rule has two limitations that is it has to be applicable for n

by n system and second determinant A should be non zero.



(Refer Slide Time: 12:39)

Example: For what values of a the system
3 1 4)\x) (2

0 1 alyl=1
112)\z) 1
has a unique solution.

Solution : The system will have a unique
solution when det A # 0.
1

detA=10 1 a=32-a)(a-4=2-2a

11
detA=0 > a=1 N

The given system has unique solution a#1

So, let us illustrate the Cramer’s rule for this given system | have been given a 3 by 3
system and it is non homogeneous system, because right hand side is non zero vector.
So, we have to first find that this system has a unique solution, so this involves an are
unknown constant A, so the question is for, what values of a the system has a unique

solution.

Now, we known that the system will have a unique solution provide a determinant A is
not 0, so determinant A is to be evaluated, so to calculate determinant A, 1 write 31 4 in
the first row 0 1 a in the second row and 1 1 2 in the third row of the determinant. So, if |
simplify it is 3 times 2 minus a plus 1 into a minus 4 and that gives me two this is 6
minus 4 is 2 and minus 3 a plus a it is minus 2 a, so determinant A is 2 minus 2 a and this
will be 0 when A is equal to 1. So, this system will not have a unique solution when a is
equal to 1 for all other values the system will have a unique solution. So, the given
system has unique solution, when A is not equal to 1, so this is the conclusion on the

basis of this.
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Example : Solve the system

Solution :det (A) =2 - 2a
det A=2

214
32

x=1

So, we solve the system when A is equal to 0, so | have taken A is equal to 0 in my
earlier example, so let us solve this system and we solve this system using Cramer’s rule.
So, we first calculate determinant A as we have seen | have complete determinant A as 2

minus 2 a and a is equal to 0 in this example.

So, that gives me determinant A is equal to 2, but this Cramer’s rules means that | have
to evaluate determinant of A 1, where A 1 is this matrix and if we evaluate this
determinant then this determinant comes out to be 2, that can be very easily obtained it is
if we expand about this particular row, then determinant A 1 comes out to be 2. And,
determinant A is equal to 2 and determinant A 1 equal to 2, so according to the Cramer’s
rule determinant A 1 divided by determinant A gives me the solution, so x is equal to 1,

2 divided by 2 gives me X is equal to 1.
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=32M(4)=2 y=1

For the second component | first calculate determinant A 2, which is obtained by writing
the matrix A and replacing the second column of the matrix by the column vector b, so
column vector b is 2 1 1, so | am replacing the second column by 2 1 1. So, if | evaluate
this a determinant about this particular row, then it is 3 into 2 minus 4 that gives me 2 so
3 into 2 is 6 minus 4 that gives me 2 and; that means, y is equal to 1, because y is equal
to determinant A 2 divided by determinant A, which I have already complete as 2, so it is
2 divided by 2 that comes out to be 1.

Similarly, determinant A 3 is computed by replacing the third column of the matrix by
the column vector 2 1 1. And, now when | expand this determinant about say this row
then this comes out to be 1 minus 1 is 0 and for this it is 1 minus 2, so the result comes
out to be minus 1 and then from here, | can compute z is equal to minus 1 divided by
two. So, z is equal to minus half, so my solution is x is equal to 1 y is equal to 1 and z is

equal to minus half.

Let me check whether it is satisfy the given system or not, so to verify | write down the
matrix A and write down solution 1 1 and minus half, if I compute this it is 3 into 1 plus
1 and minus 2. So, the result is 2, then this multiplied by this is simply 1 and this row
multiplied by this column gives me 1. So, 2 1 1 is the given right hand side and this
verifies that whatever solution | have obtained here that is 1 1 minus half is the solution

of given system.
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Remark : for solving n x n system by
Crammers rule (n +1) n™ order
determinants are evaluated

System of m equations in n unknown

AX=Db m=n
Consider Rank (A) = Rank (A:b)=n

Consistent system
det A#0, > Nonsingularty of A

> invertibility of'A

So, the that is how we apply Cramer’s rule and one may notice that for solving 3 by 3
system we have evaluated 4 third order determinants, but if we have an n by n system,
then will have evaluate n plus 1 n th order determinants. Now, this means lot of
computational effort is required for solving Cramer’s rule further there are some
limitations on the Cramer’s rules that is the matrix has to be non-singular if determinant
A is equal to O this cannot be applied further the matrix has to be a square matrix, so

these are some of the limitations of Cramer’s rule.

Now, we will discuss a general method for solving m equation in n unknowns, so let us
consider a system of m equations in n unknown. So, we have AX is equal to b and for a
particular case m is equal to n, so if take m is equal to n, then rank of A is equal to rank

of A colon b the augmented matrix is equal to n.

So, if this condition is satisfied, then in fact if this condition is satisfy then we say the
solution this the system of equations are consistent. So, first thing is there has to be a
consistency only then we can talk about the solution of the system, further if this is equal
to n; that means, the matrix A is non-singular and the system is consistent. So,
determinant A is not 0, so this rank is equal to n means determinant A is not 0, so non-
singularity of A is there and this implies invertibility of A, and that implies the

uniqueness of solution.
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Uniqueness of solution :

X=A"b

Casem=nbutrank A=r<n

Infinitely many solutions are possible

»

So, this means X is equal to A inverse b is the unique solution of the system AX is equal
to b. This is the case when m is equal to n, but suppose we have a case when m is equal
to n, but rank of A is not n it is r, which is less than n then we may not be able to get the
unique solution of the system.

So, for in this case if rank A is equal to r, which is less than n, then in fact we will be
having infinitely many solutions for the given systems. So, now we have to case is m is
equal to n, then we may have unique solution when the matrix A is invertible, but if the
matrix is not invertible and rank of A is less than n, then there will be infinitely money

solutions possible.
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Example : Consider the system of equation
1 1 1)x 6

12 3|yl=
2 3 4)\z) |16

Solution : m=n
1116

2 3 4 16

-1

v

1+ 1 1
(A:b)=1231o]>o12
012

2

4

0

1
»| 0
0 0




For example, consider a system of equation the three by three system is a square matrix
m is equal to n and we have to see whether we have finitely many solutions or a unique
solution for the system. So, m is equal to n we can notice here and then we consider the
augmented matrix that is matrix A the coefficient matrix is written here, followed by the
column vector 6 10 16 we apply elementary transformation elementary operations on this

augmented matrix.

So, that this and this become 0 and this matrix will be transform to this matrix, which
may be further transformed see in this in this case this row is equal to this row, so if you
subtract this row from this row, then will have a 0 row in this matrix. So, we can notice
that rank of A cannot be three the size of the system, so rank may be 2, in fact it is two
because we have A 2 by 2 matrixes, which is having determinant non zero, so in this

matrix has rank 2.
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Rank (A)=Rank ((A: b)) =2<3.
10 142
>0 1 2 4
000O0

z can be assigned arbitrary values
or x-z=2
y+2z=4

xX=2+k,y=4-2k

Infinitely many solutions »

So, according to the result here we will having infinitely many solutions why, because
rank of A is equal to rank of the augmented matrix and this is 2, which is less than 3,
then we have this augmented matrix. Then, from here this equation is not giving any
information only these two equations are two be solved in three variables from here one

can notices that z can be a assigned any arbitrary value.

Then, x minus z is equal to 2 from the first equation and from the second equation y plus
2 z is equal to 4. So, now we have only two equations in 3 variables we can assign any

arbitrary value to z, let us say k when x is equal to 2 plus and y is equal to 4 minus 2 k



and these two equations are satisfied and; that means, you can given arbitrary values to k

and we will be having different solutions.

So, as we change values of values of k x and y will vary and; that means, we will be
having infinitely many solutions for the given system. And this what this is happen,

because the determinant of a is 0 and rank of A is 2, which is less than 3.
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Case m<n

no. of equations < no. of unknowns
Rank (A)=r<m<n

Nullity A=n -r

» The system has infinitely many solutions

»n - r unknowns can be assigned
arbitrary values

» r unknowns are expressed in terms of
remaining (n-r) unknowns »

So, we have infinitely many solutions in this case, now I consider a case when m is less
than n, so previously we were consider case when m is equal n we have a square system.
But, suppose numbers of unknowns are less than a number of equations are less than the

less than the number of unknowns, then what will happen.

Rank of A is equal to r, which will be less than or equal to m, but this n will, since it is
given to be less than n, so rank r will always be less than n. So, this is the situation and,
then according to the rank nullity theorem nullity of A is n minus r and that is case that
the system again will have infinitely many solutions. In fact, n minus r unknowns can be
assigned arbitrary values and only r unknowns will be written interms of remaining

unknowns.
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So, r unknowns are expressed in terms of remaining n minus r unknowns and this |
illustrate for this system. So, let us four equations in six unknowns, so | have the
coefficient matrix as this is the column vector of unknowns they are six in number and

we have four equations.

So, in this system if | consider the augmented matrix A colon b, then a this is the
coefficient matrix and here | have added the column vectors 2 3 2 and 7 | can apply
elementary transformations and this can be reduced to this, this can be done very easily
you can subtract this from this, you can subtract this from this. And then one can add the
3 and subtract, so this can easily be transform to this by using elementary transformation,

now in this case one row is identically 0.
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IE 0
00 2
0(-1)1
0 0

0 00
Rank (A) =3 Consistent system
Xy, X4, X5 are expressed in terms of x,, x,, Xg
Assign arbitrary values to x,, X,, Xg
Xy =T X4=2-2r-3s-t
X4 =S Xy =1-2t
Xs =t Xs =t R

We can further simplify, so this what | have obtained I my last slide one can notice that
this is a square matrix, which is having non zero determinant and; that means, the rank
matrix a is three. Further, if you consider this, then again the rank comes out to be three;
that means, the given system is consistent as the rank of A and the augmented matrix

both are equal and they are three.

Now, if this is we transform matrix, transform augmented matrix, then one can notice
that this row this row this row has the leading once in this column this is the leading one
here, and the leading one is here leading term is this in the matrix and from this
discussion we conclude that rank A is equal to 3 and we have a consistent system. And
this is leading one corresponding to the unknown x 1 this leading one is corresponding to

the unknown x 3 and this is corresponding to x 5.

So, we can say that X 1 x 3 x 5 are expressed in terms of the remaining unknowns that is
X two x 4 and x 6. So, we assign arbitrary values to these unknown x two x 4 x 6 and we
can write down x two is r r being arbitrary x 4 is s and x 6 is t, SO we have assign
arbitrary values r sn t to x two x 4 x 6 and then the remaining unknowns x 1 x 3 x 5 they

are expressed as x 1 is equal to 2 minus 2 r minus 3 s minus t.

So, from the first equation | am writing x 1. In fact, I am using first equation for x 1 and
this third this equation second equation is used for expressing x 3. So, x 3 is equal to 1
minus 2 t this is x 6 and 6 is equal to t that is, what | have assigned here, so from this
equation | am getting this and this equation is used for writing x 5. So, on the right hand



side we do not have any we on the right hand side we have 0 here, so we simply say x 5

is equal to t.

So, this third equation is obtained from this third equation and forth equation is a trivially
satisfied. So, we have these solutions in terms of unknowns r s and t and as we very r s
and t we will be getting different values of x 1 x 3 and x 5 and; that means, we will be

having infinitely many solutions to be given system.
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Case n<m
Rank (A)=r<n L 0| r
Reduced Row Echelonform |0 0 [}m-r

m -r equations are redundant.

if not inconsistent then the solution is
unique whenr=n

fr=rank (A)<n

Infinity many solution can be obtained

So, with this we come to the last case, where n is less than m that is the number of
unknowns is less than the number of equations, clearly even in this case rank of r will be
r and it will always be less than equal to n, because this rank r cannot exceed n. So, we

will have rank a is equal to r.

Now, if we have such a system then we can reduce the augmented matrix in this form
this is reduced row Echelon form in which, is rank r, so we will be having | r here
identity matrix and rest of the rows will be 0, since we are having rank s r, then n minus r
rows will be 0. And, if that it the case then we can assign arbitrary values to m minus r
unknowns and only r unknowns can be written interms of m minus r unknowns and that
is; that means, will be again having infinitely many solutions. So, we will have in this
case m minus r equations which are redundant, because they are zeros and it may happen
that the system is not consistent then of course, we cannot we cannot solve the system,
but if it is consistent and if r is equal to rank of a is less than n, then infinitely many

solutions can be obtained.
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In the next example | am considering the case, when n is equal to m, so let us solve the
system in 3 unknowns when 4 equations are given. So, let us have the system, which is
the coefficient matrix is 4 by 3 4 rows and 3 columns. So, we consider first the
augmented matrix when this column is added here, so this is the augmented matrix we
apply elementary transformations to this matrix and first these entries are made zeros.
So, this matrix reduce this matrix and in this matrix one may notice that 5 is common,
and here 10 is common one can take 6 we can further rationalize this row and applying

elementary transformation to this matrix gives.
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Rank (A) = 3 = no of unkowns

One redundent equation Unique solution




This matrix and from here one can notice that this row is identical to this row, so this row
can be made to 0. And, this matrix transform to this matrix having one row as identically
0 and from here this square matrix has determinant non zero one can notice here, if you

expand about this particular row then 2 into 1, so this is non zero determinant.

So, the rank of this matrix is 3 is the number of unknowns further it is a consistent
system, because rank of A matrix is 3 and rank of augmented matrix is also 3. The
consistent system and having one redundant equation in this case; however, one making
this equation redundant we have three equations and 3 unknowns this system can be
invert this determinant is non zero. So, this matrix is this matrix is invertible and then the

solution of this matrix can be obtained uniquely.

And, if you solve this then third equation gives me z is equal to 3 substituting z is equal
to 3 in this equation given me 2 minus 3 that is y is equal to minus 1 and substituting z is
equal to 3 and y is equal to minus 1 in the first equation we call this procedure as back
substitution. We start with lowest entry that the value of this substituted in this next

equation and all the values will be substituted in this equation.

So, following this procedure x come out to be 9 minus 3 minus 2, so this comes out to be
X is equal to 2 this is minus 2 this is 3 and 3 9. So, this 9 will get cancel with this minus 1
and 2 that is minus 2 when it goes to the other side x come out to be 2, so this system has
unique solution. So, we have discuss methods for finding solution in different cases
different possibilities are their when m is equal to n m less than n m greater than n.

Now, we have two situations when the system is homogeneous when the system is non
homogeneous. So, what is the relationship between the system of a homogeneous system
of homogeneous equations and system of non homo-homogeneous equations for this
purpose.
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Let Xp is a solution of system AX=b

Let Xh is a solution of system AX=0

X, +X,, is also a solution of AX=b

A(X+X,)=A X+ AX,= A X_ =b

Every solution of AX =b can be written as
Xp+Xs,

Let us say X p is a solution non-homogeneous system AX is equal to b while X h is the
solution of corresponding homogeneous system AX is equal to 0. Then, one can prove
easily that X p plus X h is also solution of non-homogeneous system AX is equal to b
one can very easily check it, if you substitute X p plus X h in this equation, then this
equation must be satisfy. So, for this purpose | write A and in place of X | write X p plus
X h simple perform this multiplication itis A X p A X h, but A X h is equal to 0, so what
remains is A X p is equal to b.

But, we know that X p is solution of AX is equal to b, so this equation is satisfied and;
that means, X p plus X h is also solution of AX is equal to b. Now, this is very similar to,
what we have in case of differential equations and we have a result that every solution of
A X is equal to b cab be written as X p plus X h. So, it has two component one is a
solution of homogeneous part and this is a solution of a non homogeneous part we call it

up X p is called as a particular solution.
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Solution space of AX=0

Solution space of AX=b

So, if we represent the solution of AX is equal to 0 on the plane see for AX is equal to 0
0 0 is also solution then we may have solution number of solutions other than x is equal
to 0 if determinant A is 0, then possibility of other solutions are there and we know that

they all the solutions of this equation they will form a vector space.

So, | am denoting that plane consisting of all the vectors be satisfy this equation as this
plane, so this plane means, so the solution of all the solutions of AX is equal to 0. But, if
I consider AX is equal to b, then this plane will be parallel to this plane and all the
solutions here they are shifted this distance they will form a solution of AX equal to b
that is the relevance of X p plus X h. So, the solution with these two planes are parallel

planes, so this is the geometrical interpretation of X p and X h.
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The following statements are equivalent
for a square matrix of order n

»A is nonsingular
rdetA#0

~A is row equivalent to |,

»A has rank n
»A has nullity 0

» The rows (columns) of A form a linearly
independent set of n vectors

»Ax=0 has only the trivial solution
b

Now, we have discuss number of results related to the two systems AX is equal to 0 and

X is equal to b, now we say that the following statements are equivalent for a square
matrix of order n. So, the first statement is A is non-singular, second is determinant A is

not 0, we are in fact, using this definition for a non-singular matrix.

Then A is row equivalent to | n whenever the determinant A is not 0, then we can always
reduce A 2 | n by applying elementary row transformations, A has rank n, determinant A
is not O, so rank will be n, A has nullity 0 due to rank nullity theorem the rows columns
A form a linearly independent set of n vectors this is also we have proved earlier. And
finally, AX is equal to 0 has only the trivial solutions. All these statements are equivalent

related to AX is equal to 0.
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The following statements are equivalent
for a square matrix of order n
»A is nonsingular

rdetA#0

»A is row equivalent to | |

»A has rank n
» A has nullity 0

»The rows (columns) of A form a linearly
independent set of n vectors
»The system Ax = b has unique solution

for every column vector b
»

Similarly, the following statements are equivalent, when we have A is non-singular
determinant A is not 0 all these things are same, which we have discussed the last point
is slightly different and it says that the system AX is equal to b has unique solution for

every column vector b.

So, we have x is equal to b non homogeneous system it will have a unique solution for
every column vector b if matrix A is non-singular or determinant A is not 0 or A is row
equivalent to I n or A has rank n or A has nullity 0 or the rows of A or columns of A
form a linearly independent set of n vectors, then the system AX is equal to b has unique

solution for every column vector of b.

Now, with this we have write at the end of this lecture and in this lecture | have discuss
different situation for solving system of equations we may have a homogeneous system
of equation or we may have non homogeneous system of equations. If it is homogeneous
system, then we check the determinant and accordingly we say that whether we are
having a unique solution or we can we can have a trivial solution or we have infinitely
many solutions. Similar cases, will discuss for AX is equal to b, when we have 0
solutions, when we have unique solution, when we have infinitely may solutions. All

these cases we have discuss for solution of system of equations.

Thank you.



